A6 ERMARZBRZE N 112858 £220 % 48 K4 F R ARt

L &
B = = bl 7‘]( By
35 & x % 2| % 2 % P 2 s i
5 | & #HYEFA F75B P wEABELEE w5 B |mmc
A | F |E=rm | Kg |F3£41Q 1 Kg [242@Es) 2 Kg (P35 14 | & 9.8 g
13 | R [mmms 1 Ke B 0.5 Kg [£&EFEH 0.1 Ke |G 1 PR
8 e N Val 1Kg |BHE/NT 0.5Ke |LLZEHR 0.1Kg |BEHFTT 0.5Kg 52.9 g
£ AKE& 0.1 Kg |BE{" 0.1 Kg |Bi4k 0.1 Kg [EE&PT*R 0.2 Kg 6% :
#7 AR £ 0.1 Kg |4TE%/NT 0.1 Kg -y 0.2 Kg 44.4 g
i FEHE 0.1 Kg #E
£¥ 10125 ¥
26
5 | B | RIARABAERNK) S350 ASLBR% ERERS BEMA
AR [BLEFT  2Ke [SROK  1.5Ke [BEEY  2.5Ke (meneasm 14 93.1 g
14 R BEHOES195m) 2 IS FT 0.5 Kg |G (%) 1 {55 |EoRya80.6%) 1 & BB -
8 EHE G 1 B |EE&NTYR 03 Kg |4LEEER 0.1 Kg [ERHAQ 0.5 Kg 25.1 g
2 HIEFEEICAS 1 Kg Hik 0.1 Kg Fayg:
# LR 0.2 Kg 24.6 g
=z EHH 0.1 Kg 2§
R¥ 690 A+
26
518 1 45 AR EnFrEask Xy & it ko i &5 BEE C
A | R (A=) 1 W |5y 1@ [Ermonos 2.5 Ke [SEFOEE) 1 W 87.5 g
15 | B |emss | Kg [smmoosmn 1 |BRE 0.1 Kg |S8&+T 0.7 Kg oy
8 HKHFT 0.8 Kg |EKG(fEE) 1 Kg |BE%%: 0.1 Kg |BRIE(KG) 0.2 Kg 26.2 g
-4 FFEE*4 04 Kg |[FRE0R 1 FE 0.2 Kg Eaq:
# BEL 0.2 Kg [#3/NT 0.5 Kg 95.4 g
= EE 0.1 Kg [EE&4/NT*R 0.2 Kg #g
£ 33 FERE 0.1 Kg 680 %+
26
51 A B BR b AR i A A& FHbE FEHETE ¥ (e
A | R [fuUBsE @) 1/ |moomrasne 2 & [HEI(ES) 2 Kg [40E(H) 1M % 112.5 g
16 | B [t 1 Ke |RURK 15 Ke [RM&  O1Kg [REFE 04 Ke| B [mwr:
A #okimEsog) 14 |[FRRE) 1l | B 0.1Kg 43R 03Ke | B 27.6 g
2 FEHBOKE) 148 Bk 0.1 Kg |FBH 02Kg | B ey
w|  |EEeTE 05Ke BT 0aKke | K| 246
s iﬁ g
ﬁ, 53
¥ 801 X ¥
26
5 | & A¥aa AL ITHY AR T ANFELE B
A | R [rEaEme 296 |[@ET 1.5 Kg |55 2Keg |[RILHT 0.6 Kg 80.4 g
17 | B | 0.1 Kg |[EXBET 05 Kg [ACM%% 02 Ke [NEA 02Ke | |mmy:
B EEFEES 0.1Kg [BEELC 0.2 Kg |F3¥EE: 02Ke |FEH 0.1 Kg 27.5 g
E LB 0.1 Kg |4LEEH/NT 01 Kg |E+hR 02 Kg |&IZEEFT 0.1Kg Eag:
#3 FOK R4 0.1 Kg Fiid3 0.1 Kg 33.6 g
3 AR 0.1 Kg B
¥ 699k +
26
HEREREAMRAS €3 05-5863766 1% A : 05-5875918 K&kBv:  2024/5/7
FRHE HE
TR AR —
Iyt R E -




